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Name: Date: 08/31/2017

M20580 L.A. and D.E. Tutorial
‘Worksheet 2
Sections 1.3-1.4

1. Determine whether the vector w can be written as a linear combination of the vectors
v1, vg, and vs. If yes, find scalars a1, a9, as such that a,v; + ayvy + asvg = w.
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(a) vy = |=2|, vy = 1|, v3=|—6|,and w =
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Describe Span{vi,va}.

0
} , Vg = F} . Find the value of h such that w
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4. Let A

b have a

pivot position? Does the equation Ax

How many rows of A contain a
solution for cach b in R*?

(a)
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(b) Do the columns of A span R*?




